Actuator Series Closing Gripper Series

"CHM e g i
e oS
Shank Type - D=L j ] o
B 5 aie I HEE
CAD > , L3 Air supply port
Work stopper
M .
«
0.3
L7 .
unit:mm
Mass
Model M R L1 L2 L3 L4 L5 L6 L7 L8 | Pl | @P2 | 61 82 ©
1
CHM 08AAK |M2x04| R5 | 195 | 3 5 5 4 5 2 5 10 12 | 10° | 45° | 21.5
CHM 11AAK |M25x045| R6.5 | 235 | 4 55 6 45 6 25 7 12 16 8° | 45° | 41
R RSxu  Finger L2 L1 12
A s %\ s M1
Panel Mount Type St j S
ore B9 Sl e
1 Dy L 1\ M|
CAD S Esj 2-H 2-6‘ M5x0.8
Work stopper Air supply port
M2 e
of k| IE!’
_qu !H—!
03]
L7 unit:mm
Mass
Model ML | M2| R | L1 | L2 | L3 | L4 | L5 | L6 | L7 | L8| P 6L |62 | H G ©
1
CHM 08ABK |M10x1|M2x04| R5 |19.5| 3 5 5 4 5 2 5 | 12 | 10° |45° | 12 | 3 | 22
CHM 11ABK [M12x1|M25%0%| R6.5|/235| 4 | 55| 6 | 45| 6 | 25| 7 | 16 | 8 |45°| 14 | 4 |435
A AN % L10 ‘14 M1
Floating & L Sy
Panel Mount Type 3% ) .
Fingers in Parallel >
g ii =T M5x0.8
g L3 5|, 2-4] 3-H Air supply port
CAD (Stroke)
L8 unit:mm
Model ML M2 | R |L1|L2|L3|L4 | L5 L6 |L7 | L8| L9 |LLO|gPLl|@P2| 61| 62 | H M(Z§S
1
CHM 08ACK |Ml4xi|M2x04| R5 [155| 3 | 5 | 5 | 4 | 5 | 13| 2 | 5 | 4 | 12 | 19 | 10° |45°| 17 | 58
CHM 11ACK [M18x1 M504/ R6.5/185| 4 |55 | 6 | 45| 6 | 17 |25| 7 | 5 | 16 | 24 | 8° |45°| 22 |1045
- 5
CHM
[ CHIM [ "
Floating
Panel Mount Type
Fingers at Right Angle M5%0.8
g Air supply port
CAD
unit:mm
Model M1 M2 | R |L1|L2|L3|L4 | L5 L6 |L7 | L8| L9 |LLO|gPl|@P2| 61| 62 | H M(Z§5
1
CHM 08ADK [Ml4xi|M2x04| R5 [155| 3 | 5 | 5 | 4 | 5 | 13| 2 | 5 | 4 | 12 | 19 | 10° |45°| 17 | 58
CHM 11ADK |MI8x1M2504R6.5/18.5| 4 |55| 6 |45 | 6 | 17 (25| 7 | 5 | 16 | 24 | 8° |45°| 22 |1045 .,




Actuator Series Closing Gripper Series

Turn stopper

CHM - , - L2 L1 25 2.5
Floating Block Type . T & LS )
Fingers in Parallel - o Nt % SH/f b
g el S = =t ————&—h&
ik — i
g CDN N i @ M5x0.8
CAD @ 3 Jé< Air supply port
Work stopper (Stroke) 2-¢3.3 .
M Spot facing @6 depth 3
RN o
o
et ae
0.3 L9 ‘ 2-M4 depth 7 or more unit:mm
Model M| R |BL|B2|Ll|L2|L3|L4|L5|L6 | L7|L8|LO|L1O|gPL|gP2| 01 62| F M(Zis
CHM 08AEK [M2x04| R5 | 22 | 14 |155| 3 5 5 4 4 5 13 2 5 12 | 19 | 10° |45°| 15 | 73
CHM 11AEK [M46/R6.50 25 | 18 |185| 4 |55 | 6 5 45| 6 17 | 25| 7 16 | 24 | 8° |4.5°| 18 | 117
L7 §v/ L2 LiTunstopperps 2.5
| CHIM ¢ s
Floating Block Type Q;H, ,,7,4!“_
Fingers at Right Angle - L] A
@ M5x0.8
g ,§< 3-¢3.3 Air supply port
CAD Ei (Stroke) —
inger <« Spot facing @6 depth 3
S ‘
il o
3% 1 iy k}ﬁm
c; / lL3 ‘ 2-M4 depth 7 or more .
Work stopper - unit:mm
Model M| R |BlL|B2|Ll|L2|L3|L4|L5|L6 | L7|L8|LO|L1O|gPL|gP2| 01 @2 F M(Z?S
CHM 08AFK [M2x04] R5 | 22 | 14 |155| 3 5 5 4 4 5 13 2 5 12 | 19 | 10° |45°| 15 | 73
CHM 11AFK |M46/R6.5 25 | 18 |185| 4 |55 | 6 5 (45| 6 17 | 25| 7 16 | 24 | 8° |4.5°| 18 | 117
L2 L1l 12
Shank Type o ]
._‘¥Q>/
= =, < == el
CAD i — %%,
<=3 L3
%:--M L‘4J M5 Air supply port
' =
31 o f—+ &
LZJ—< L8
unit:mm
Mass
Model M L1 L2 L3 L4 L5 L6 L7 L8 L9 oP1 | @P2 01 02 @
CHM 08AAS M2x0.4| 19.5 55 5 12 5 13 2.5 5 5 10 12 10° | 4.5° 22
CHM 11AAS |M25x045| 23.5 7 55 14 6 17 3 6 7 12 16 8° 4.5° 43
CHM L2 L1 12
A Wy M1
Panel Mount Type ! ] H
- @y
o |
CAD @ cc;g\ L3 2-H M5x0.8
2-G Air supply port
4-M2
\
3 o5 TR
[RdIIp
unit:mm
Mass
Model M1 | M2 L1 L2 L3 L4 L5 L6 L7 L8 L9 oP 01 02 H G ©
CHM 08ABS |M10x1|M2x0.4| 19.5| 5.5 5 12 5 13 2.5 5 5 12 10° | 4.5° 12 3 23.5
523 CHM 11ABS |M12x1|We5045/235| 7 |55 | 14 | 6 | 17| 3 | 6 | 7 | 16 | 8 |45°| 14 | 4 |455

1

1

1

1



Features

Blank Finger

g Finger blank specifically designed for K type finger

B Accurate centering is realized by the R combination of the finger blank and the master fingers.
M Use the finger blank by forming it according to the shape of your work.
B Remove the work stopper when it is not neccessary.
MNitriding proves effective if the wear of the fingers is to be prevented.

*Finger material: SF20T (Cr19~21%, M05~2.5%)

- g
CHM [
. - B L3 o L4,
Blank Finger i [
H B E S
AP " § L2
L1 2-¢P3
- N
Work stopper Gripper body
Unit : mm
Mounting | anplicable| Mass
T B L1 L2 L3 L4 T 1 2 3 | screw )
A i & v (provided)| Gripper | (g)
CHM 08AK11 5 8 11.5 4
CHM 08AK12 | ° 10 | 13 | 165 5 I 7
CHM 08AK13 5 8 115 Cap Scres | oy oo Tk 6.5
CHMO8AK14 | * | 10 | 13 | 165  ° ! 0B Ml T T
CHM 08AK15 | 5 8 115 20 pieces 115
CHM 08AK16 10 13 16.5 22
CHM 11AK11 8 6 10 14.5 HerSocket Head 8
CHM 11AK12 12 16 20.5 7 5 20 13 26 Cap Screws | oy 1940k L 14-2
CHM 11AK13 | 6 10 | 145 M2.5x51| e 125
CHM 11AK14 12 16 20.5 2pieces 24
o
CHM ]
- ]
i B L3 N| L4
SBIotIess Solid Blank o ﬁ% -
PEO
C’ & L2
o L1, 3
Work stopper Gripper body
Unit : mm
Mounting | Applicable | Mass
T B L1 L2 L3 L4 1 2 3 screw .
e £ L i (provided) | Gripper (9)
CHM 08AKO01 5 8 11.5 4.5
6
CHM 08AKO02 10 13 16.5 15 Hex Socket Head 5
CHM 08AKO03 1 5 8 11.5 5 10 51 | CapSorens | CHM 08ALK 7
CHM 08AKO04 10 13 16.5 : M2x4l | Type 13
CHM 08AKO5 | 5 8 115 20 2pieces 12.5
CHM 08AKO06 10 13 16.5 23
CHM 11AKO01 . 6 10 14.5 — 8.5
CHM 11AK02 12 16 20.5 . . e 0@ | CapSurens | CHMILATIK 16
CHM 11AKO03 G 6 10 14.5 ' M2.5x51 | Type 14
CHM 11AK04 12 16 20.5 2pieces 29

=

1

524



Shank Type

=

CAD

]3)%

M5x0.8
Air supply port

Actuator Series Opening Gripper Series

unit:mm
. Mass
Model Worksize | R A B L1 L2 L3 L4 | gP1 | @P2 | ¢P3 C ©
CHM 08BA03C (Groove width 3~5 3 3 2 8 18
CHM 08BAO5C (roovewidth5~7 - 5 4 3 10 1
CHM 08BAQ7C (Groove width 7~9 7 4 12 18.5
CHM 08BAO02H Hole ¢2~3] R1 2 1.6 1 5 0.5 18
CHM 08BAO3H Hole ¢34 R15 | 3 2 | 2 15 | | °® 6 | 0| 185
CHM 08BAO04H Hole ¢4~6] R2 4 3 2 8 1 18
CHM 08BAQO6H [Hole ¢6~8 R3 6 3 10
CHM 08BAOSH Hole ¢8~10 R4 | 8 4 4 12 185 B
CHM 11BAO06C |Groove width6~8 6 4 12 a7 1
CHM 11BAOQS8C |Groove width 8-10 8 5 5 14
CHM 11BA10C Grooewidh10-1] 10 5 16 37.5
CHM 11BA12C |Groove width 12~14 12 38
CHM 11BAOBH Hole 96-8 R3 | 6 4 | B 35 W0 6 g 2 1615 -
CHM 11BAOS8H [Hole ¢8~10 R4 8 4 12
CHM 11BA10H [Hole 910~12] R5 10 6 5 14 37.5
CHM 11BA12H [Hole ¢12~14) R6 12 6 16 38
Panel Mount Type L1 12
L2 M
CAD
E @3*’ | . M5x0.8
L|__3J E‘ 2-H >ugﬁAir supply port
unit:mm
Model Worksize | M R A B | L1 | L2 | L3 | L4 |¢PL | @P2| C H G M(Z»;'S
CHM 08BB03C (Groove width 3~5 3 3 2 8
CHM 08BBO5C (Groove width 5~7 - 5 4 3 10 1
CHM 08BBO07C (Groove width 7~9 7 4 12
CHM 08BB02H Hole ¢2~3 R1 2 1.6 1 5 0.5 19.5
CHM 08BBO3H Hole @34 " Y R1s| 3 | 2 | 22 15 ™| ° |6 | 12 121 3
CHM 08BB04H Hole @¢4~6 R2 4 3 2 8 1
CHM 08BB06H [Hole @6~8 R3 6 3 10
CHM 08BBO8H Hole ¢8~10 Ra | 8 | *° 4 12 20 B
CHM 11BBO06C (Groove width 6~8 6 4 12 305 I
CHM 11BB08C |Groove width 8~10 8 . 5 14 .
CHM 11BB10C [Groove ith 10~12 i 10 6 16 40
CHM 11BB12C |Groove width 12~14 12 405
CHM 11BBO6H Hole g8 > R3 | 6 | a4 | 2 [ 3 | 0| & o 16 15 141 4 e
CHM 11BBO08H |Hole ¢3~10 R4 8 4 12 :
CHM 11BB10H [Hole ¢10~12 R5 10 6 5 14 40
CHM 11BB12H [Hole g12~14 R6 12 6 16 40.5

528



Actuator Series Opening Gripper Series

529

Turn stopper

Floating Panel Mount Type L1 L2 25 25
Fingers in Parallel . L3 ‘ 14 1im
L
o 49 —
CAD [ & by = j | h
' ® <EF5H; iM
c ) i I
<|__4J »@4 3-H 0.4 Air supply port
(Stroke)
unit:mm
Model Worksize| M | R | A | B | L1 | L2 | L3 | L4 | L5 | L6 |@Pl gP2|@P3| C | H M(st
CHM 08BCO03C (Groove width 3~5 3 3 2 8
CHM 08BCO05C (Groove width 5~7 - 5 4 3 10 1
CHM 08BCOQ7C (Groove width 7~9 7 4 12
CHM 08BC02H Hole ¢2~3 RL| 2 |16 1 5 0.5
CHM 08BCO3HHole a4 " R15| 3 | 2 | ¥ 4 15|70 ° | B[ 121 17 1705
CHM 08BC04H Hole p4~6 R2 | 4 3 2 8 .
CHM 08BC06H Hole ¢6~8 R3 | 6 4 3 10
CHM 08BCO08H Hole ¢3~1Q R4 8 4 12
CHM 11BCO06C (Groove width 6~8 6 4 12 113
CHM 11BC08C |Groove width 8~10 8 6 5 14
CHM 11BC10C proovevidth 10~17 "] 10 5 16 113.5
CHM 11BC12C [roove width 12-14 12 114
CHM 11BCO6HHole g68" °YR3 [ 6 | 4 | 8| % [3 | 0| & 17| 16 24 )15 2 s
CHM 11BCO08H Hole ¢8~10 R4 | 8 4 12
CHM 11BC10H Hole ¢10~12 R5 10 6 5 14 113.5
CHM 11BC12H Hole ¢12~14 R6 | 12 6 16 114
B Turn stopper
Floating Panel Mount Type L1,L2 25 2.5
Fingers at Right Angle o8 L3 14 M
I —~ 3 o || 9 ﬁ
CAD Ny © NI DY AR = j 1 !
>~ _'[ ) % %iﬂjF % 1 msx0.8
N B L4 »@4 3-H/ | 2.4 Air supply port
(Stroke)
unit:mm
Model Worksize| M | R | A | B | L1 | L2 | L3 | L4 | L5 | L6 |@Pl gP2|@P3| C | H M(st
CHM 08BDO03C (Groove width 3~5 3 3 2 8
CHM 08BDO5C (Groove width 5~7 - 5 4 3 10 1
CHM 08BDO7C [Groove width 7~9 7 4 12
CHM 08BDO02H |Hole ¢2~3 RL| 2 |16 1 5 0.5
CHM 08BDO3H Hole 34" " R15| 3 | 2 | ¥ 4 [15|7° % | B[ 121 17 1705
CHM 08BD04H [Hole @¢4~6 R2 4 3 2 8 1
CHM 08BDO06H [Hole @6~8 R3 6 4 3 10
CHM 08BDO08H Hole ¢3~10 R4 8 4 12
CHM 11BDO06C |Groove width 6~8 6 4 12 1
CHM 11BDOSC |G vidh 810 8 | | 5 14 3
CHM 11BD10C [Groove it 10-12 " 110 6 16 113.5
CHM 11BD12C (Groove width 12~14 12 114
CHM 11BDO06H Hole 68" °YRa [ 6 | 4 | 8| % [3 |0 | & 17| 16 24 )15 2
CHM 11BDO08H Hole ¢8~10 R4 | 8 4 12 113
CHM 11BD10H |Hole ¢10~12 R5 | 10 6 5 14 113.5
CHM 11BD12H |Hole ¢12~14 R6 | 12 6 16 114

=

1

=

2

=

1

=

2



Actuator Series Opening Gripper Series

Turn stopper
o

Floating Block Type ® L3 10
Fingers in Parallel & o [
: ui{ = TR
- 4 = |
CAD / 2 & / S %EI L ﬁa\u
- J ] M5x0.8
Depth 7 or more L4 5 Air supply port
(Strol:e) 2483 -
Spot facing @6 depth3
unit:mm
Model Worksize| R | A | B | L1 | L2 | L3 | L4 | L5 | L6 W1l |W2 | Pl gP2|gP3| C | F M(Z?S
CHM 08BEQ3IC (Groove width 3~5 3 3 2 8
CHM 08BEQ5C (Groove width5~7 - 5 3 10 1
CHM 08BEO7C (Groovevid 7-9 7 4 2 12
CHM 08BEO2H [Hole 2~3 R1 | 2 | 16 1 5 0.5 B
CHM 08BEO3H Hole 34 R15| 3 | 2 | 4| 4 15 7° | %> |18 22 14— 12 19 15 485 H=
CHM 08BE04H Hole ¢4~6| R2 | 4 3 2 8 1
CHM 08BEO6H Hole ¢6~8 R3 | 6 3 10
CHM 08BEO8SH [Hole g8~10 R4 | 8 | * 4 12
CHM 11BEQ6C [Groove width 6~8 6 4 12
CHM 11BEOSC ettt | 8 | 5 14 1005
CHM 11BE210C [Groove with 10~12 10 . 16 101
CHM 11BE212C [Groove width 12~14 12 B
CHM 11BEO6H Hole go~8 R3 | 6 | 4 | 0 | > |3 | 0| © [ 1725 |18 /g 16124 125148 lyg05 1=
CHM 11BEOS8H [Hole ¢8~10, R4 | 8 4 12 |
CHM 11BE10H [Hole 10~12] R5 | 10 6 5 14 101
CHM 11BE12H Hole ¢12~14| R6 | 12 6 16
L1 L2 e 55)5 er2.5
Floating Block Type 10
Fingers at Right Angle
e - ©
L o
=) ~ ) 2 o %;LLL
CAD 3 : M5x0.8
2-M4 depth 7 or more »@4 2-43.3 Air supply port
w2 (Stroke) Spot facing ¢6 depth 3
unit:mm
Model  |Worksize]l R | A | B | L1 | L2 | L3 | L4 | L5 | L6 |WLl W2 | gPLl| gP2|gP3| C | F M(ESS
CHM 08BFO03C (Groove width 3~5 3 3 2 8
CHM 08BFO5C (Groove width5~7 - 5 3 10 1
CHM 08BFQ7C (Groove width 7~9 7 4 4 12
CHM 08BFO2H [Hole 2~3 R1 | 2 | 16 1 5 0.5 B
CHM 08BFO3H Hole 34 R15| 3 | 2 | 4| 4 15 7° | %> |18 22 14— 12 19 15 |48.5 ;
CHM 08BFO04H Hole ¢4~6| R2 | 4 3 2 8 1
CHM 08BFO06H Hole ¢6~8 R3 | 6 3 10
CHM 08BFQ08H Hole ¢8~10, R4 | 8 4 4 12
CHM 11BF06C [Groove width 6~8 6 4 12
CHM 11BFO8C foneridhét | 8 | 5 14 1005
CHM 11BF10C |[Groove width 10~12 10 5 16 101
CHM 11BF12C |[Groove width 12~14 12 B
CHM 11BFO6H Holego-8 R3 | 6 | 4 | 8| > [ |10 6 |17 2518 g7 16 ) 24 115 18 ,
CHM 11BFO08H |Hole ¢8~10] R4 | 8 4 12 100.5
CHM 11BF10H |Hole ¢10~12) R5 | 10 | 6 5 14 101
CHM 11BF12H [Hole g12~14) R6 | 12 6 16 1101.5

530



	522
	523
	524
	528
	529
	530

